518 - o2 - BB (—RE8EE) B ~MRE~

NoO.1 NO.2 NO.3 No.4 NO.5 NO.6 NO.7 NO.8
®|-12 ®|-14 ®|-15 ®|-12 ®|-16 ®|-15 ®|-14 ®|-14
@|5 @|-8 @|-7 @|6 @|-8 @|-5 @|-5 @|6
|-72 |-72 d|-63 ®|-63 @ |-56 Q|45 @|-72 @ |45
@|-9 @|-6 @|-7 @|-6 @|-8 @|-8 @|-6 @|-7
®|-L ®|-L 5|1 5|1 ®|-L ®|-15 ®|-L ®|-12
®|-4 o|-2 ®|-2 ®|-2 ®|-L ®|2 ®|-2 ®|-4
o|-2 o|-2 o|-% o|-2 o|-2 o|-% o|-Z o|-4
—6x ~1Ix 5z ~7x —6x ~9x 6x ~7x
©|9x-10 ©|10x- 14 ©|13x-9 ©|13z-9 ©@|5x-4 ©@|122-9 ©@|13z-9 ©@|13x-12
-202 -18%* ~24x° —42r* ~24x° ~24xy -362° 48z
@ |-18a + 306 @ |-15a - 10b | -21a +35b @ |-28a-21b | —48a +40b @ |-12a - 306 | —42a + 356 @ |-36a -20b
®@|52-3 ®@|52-3 ®@|7x-3 ®@|7z-3 ®@|7x-3 ®@|9x-3 ®@|6x-2 ®@|52-1
®|-2x+3y ®|-=x-y 3| 4x-3y ®|x+y ®|2c+7y ®|5x-y @® | 4xc— 3y ®|3x-7y
24y 30y’ 28y* 27y 35y° L2y 45y 54y
| 20ay ®| 281y ®| 302y @®|11ab ®| 352y @®|21ab ®| 422y @®|27ab
D|@n=€,1 D|@,n=2,3) D@, »=01,2) D|@,pn=2,3 D] @, 9)=4,1) D@, 9=3,-2) D@, 9)=4,-3) D|@,9»=@3,2
y=2x-3 y=3x-7 y=5x-1 y=4x-3 y=3x-2 y=-3x+2 y=3x—4 y=5x-7
y=3x+1 y=2x+1 y=3x+1 y=2x+3 y=4x-3 y=3x+1 y=2x-3 y=3x-7
Qly=3xz-3 @|y=3x-1 @ly=2x-3 @|y=3z+1 @ly=2x+3 @|y=4x-11 @ly=3x-8 @|y=3z-5




518 - o2 - BB (—RE8EE) B ~MRE~
NO.9 NO.10 No.11 No.12 NO.13 No.14 NO.15 NO.16

®|-13 ®|-15 ®|-15 @®|-11 ®|-13 ®|-14 ®|-15 D|-15
@|8 @|-9 @|-9 @|6 @|-9 |4 @|-7 @|5
d|-63 d|-63 d|-63 |48 ®|-27 |-72 d|-56 |45
@|-8 @| 4 @| 4 @|-9 @|-9 @| 4 @|-6 @|-6
®|& ®|- ®|- ®|-12 ®|- ®|-% ®|-4 ®|-15
®|-% ®|-2 ®|-2 ®|-2 ®|-% ®|-2 ®|-% ®|-%
o|-2 ?|-3 ?|-% o|-4 -3 |- |5 o|-2
~51 ~15x ~15x —6x ~7x ~13x 6x —6x
@|11x-8 @|142-9 @|14x-9 ®@|11x-11 ©@|6x-4 @|162-10 @|14x-10 ©@|13x-12
-362° —48%° —48%° ~54x° 402 ~28xy —402? ~72x*
| -24a +40b | -28a - 14b | -28a - 14b @ |-35a +28b @ |-32a +24b | —42a-18b | 45a +27b @|-35a - 10b
®@|6x-3 ®@|8x-3 ®@|8x-3 ®@|6x-2 @|8x—4 @|9x-2 ®@|8x-1 ®@|5x-1
B|x+y ®|3x—5y ®|3x-5y ®|9x—7y ®|6x+7y ®|6x—5y ®| 72— 8y ®|4x-9y
24y L2y L2y 24y 48y° 48y° 28y* 56y’
@ |28ab @® | 36ab @® | 36ab @ |23ab ® | 632y @ |15ab ® | 48zy @®|16ab
D@, =032 D|@x,9=3,2 D@, =32 D|@,y=2,9 D@, 9=, 1) D|@x,n=3,2 D|@,pn=€,1 D|@,9=@3,2)
y=3x-1 y=3x—4 y=3x—4 y=3x-5 y=4x+3 y=-5c+2 y=4x-3 y=3x-5
y=2x+1 y=5x-3 y=5x-3 y=4x-3 y=2x-1 y=4x-2 y=3x+1 y=3x-3
Qly=3z-5 @ly=2x+1 @ly=2x+1 @|y=3z-1 @|y=4x-1 @ly=3x+1 @ly=2x-3 @ly=2x-1




518 - o2 - BB (—RE8EE) B ~MRE~

No.17 NO.18 NoO.19 NO.20 No.2 1 NO.22
®|-14 ®|-12 ®|-11 D|-15 ®|-15 ®|-17
@|7 |4 @|-9 @|5 @|-5 @|-6
d|-56 Q|-24 d|-56 @ |-54 @ |-56 d|-63
@|-6 @|-8 @|-7 @|-8 @|-6 @|-8
®|-& ®|-5 ®|% ®|-12 ®|-% ®|-%
®|-% ®|-% ®|—5 ®|-3 ®|-2 ®|-L
o|-2 o|-2 o|-4 o|-2 -3 o|-%
~7x ~13x 3x ~7x ~51 ~13x
®@|122-7 ©|152c-15 @|14x-5 Q@|7x-5 @|4x-2 @|14x-13
-362° -561° —48%° -322 272 ~32xy
| —42a +24b @ |-20a - 15b | -28a+12b @ |-72a-27p @ |-72a + 16b | —42a -24b
@ |8x-4 ®@|6x-1 ®@|9x-2 ®@|7x-1 @|-7x-2 ®@|9x-3
®|2x+y ®|3x-5y ®| 5212y ® |9z + 10y ®|6x+11y ®|x-3y
25y° L2y 40y 45y 28y* 54y
@® | 20y @ |27ab ® |27xy @ |26ab @ | 422y @® | 15ab
D@, 9)=4,2) D|@x,9=3,2 D @,n=63,-2) D|@,9=@3,2 D|@x,n=63,9 D @,n=(,-2)
y=5x-3 y=2x+5 y=3x-1 y=5x+3 y=4x-3 y=-22-5
y=3x+1 y=2x-1 y=4x+1 y=2x-3 y=3x-1 y=4x+1
@ly=2x+1 @ly=3x-3 @ly=2x-5 @ly=3x+2 @|y=2x+1 @|y=3z-8




